%) PG BISON

ALULINE QUICKLOC FLATPAX KITCHEN RANGE
ASSEMBLY GUIDE

TALL CABINET OVEN/MICRO 600mm WITH DRAWER

L - Back

H - Back Rail -

K - Back

| - Back Rail >

A - Visible Side Left

G-Top

F - Fixed Shelf

'|| ——J - Adjustable Shelf

. /C - Floor Boffom

TOTAL NUMBER OF PANELS: 12

HARDWARE
PRODUCT QrYy IMAGE
Dufix 24 &
Minifix 24 @
Wooden Dowel 48 {?}
Screw 3.5 x 16mm 22 R
Plinth Leg With Base H100mm Kit 4 E
Cabinet Connecting Screw Kit 6 ’/?
Shelf Support Flipper 14mm Kit 4

B - Visible Side Right



TOOLS REQUIRED

Screw Driver

Cordless Drill Pozi Bit (PZ2 8mm Dirill Bit Rubber Mallet
(Pozidriv Head) oraiess Lri (Pz2)

GENERAL INSTRUCTIONS

1. Confirm that all panels (6) are in the package before assembling.
2. Check the white sticker on each panel for the labelling (A, B, C, D, E, F, G, H, |, J, & K).
3. Ensure that the panels are laid on a non-abrasive surface when assembling.

4. Note that all panel connections are done using the system described below.
PANEL CONNECTION AND FASTENING

e H
-~ -
e/

/ \

r‘/ @
| |

| = Insert the Minifix (1), Dufix (1) and wooden dowels (2) in the shown positions. Gently \ :
knock in the wooden dowels using a rubber mallet where necessary. \\ /

Il = Confirm that the Minifix orientation is as shown in Det. 1 then connect the panels. I

| —=
| -— O

Il = Using a screw driver, turn the Minifix 230° clockwise to fasten the panels together. Refer
to Det. 2.

IV = See Det. 3 for Minifix orientation when fastened. Reset the Minifix orientation to that
shown in Det.1 to disconnect the panels.

~

- 2 0'Clock \‘
/ g Position |
\‘\ // \
\\\ /// Det. 3 \\ ////
—

2 %) PG BISON



STEP 1

Connect panels C,D, E, F, G & H to panel A as shown. Refer to the holes and/or grooves on the
diagram to determine the panel orientation.

STEP 2

B
E E D G C
F
A

Connect panel B to panels C,D, E, F, G & H as shown. Refer to the holes and/or grooves on the
diagram to determine the panel orientation.

3 %) PG BISON



STEP 3

Slide the 3mm panels (L & M) into the grooves on panels A & B with the finished side facing down.
Refer to the holes and/or grooves on the diagram to determine the panel orientation.

STEP 4

X5 X5

Screw 3.5 x 16mm Screw 3.5 x 16mm

X5 X5

Screw 3.5 x 16mm Screw 3.5 x 16mm

First, check the diagonal of the cabinet by measuring the two distances indicated by the broken
lines. They should be equal. If not, twist the cabinet accordingly in the diagonal corners as shown
until an equal value is achieved. After, secure panel K to panels C & D and, panel L to panels E & F
as shown using Screw 3.5 X Témm.

4 %) PG BISON



door

Screw 3.5 x 16mm

Plinth Leg With Base
H100mm Kit

la
E
I Sy

Place the four units of Plinth Leg With Base in the shown positions, aligning with the pre-drilled pilot
holes on panel C. Ensure that the orientation is as shown in Det. 5. Using Screw 3.5 X 16mm, secure
the legs onto panel C.

STEP 6

G

Flip the cabinet upright, place it in the desired position and adjust its height by rotating the base
of the legs as shown to level.

5 %)» PG BISON



STEP 11 (GOLA PROFILE INSTALLATION)

Brackets X

G Bracket X

Det. 9

&

Using Screw 3.5 x 1T6mm, connect the shown Brackets X on panels A & B as shown. Use the pre-
drilled pilot holes to align the brackets. See Det. 9.

Bracket Y Fig. 2

1. Place the Gola Profile on the provided notch as shown. Insert Bracket Y in the channel on the

backside of the Gola Profile. See Fig. 2.
2. Turn Bracket Y 90° as shown. See Fig. 2.
3. Slide Bracket Y onto Bracket X as shown. See Fig. 2.

See the Door Installation guide for further instructions.

6 %)» PG BISON



DOUBLE SCREW ON VERTICAL GOLA

\!

=

For two adjoining Tall Cabinets, connect the provided steel brackets in the shown positions using the provided screws. Use the pre-

1a o

GOLA INSTALLATION GUIDE

L e
P |

\;ﬂ;

PER BRACKET /,‘

\
|
\
\

Screw 3.5x 1

\\ Bl Det. 2

drilled pilot holes as a guide. See Det. 1 & Det. 2.

Wy

) 0

%) PG BISON



PLAN VIEW

GOLA INSTALLATION GUIDE

DOUBLE SCREW ON VERTICAL GOLA
STEP 2

_—

\\\\
\
\
|
 S—

" Det. 4

Connect the adjoining cabinets such that the steel brackets interlock. See Det. 3 & Det. 4.

PLAN VIEW

%) PG BISON



GOLA INSTALLATION GUIDE
DOUBLE SCREW ON VERTICAL GOLA

,, o STEP 3
// v
| _ \

i f / \\\
L | / |
f H // ‘j‘
/ /
\_ v

l Det. 7

%) PG BISON



GOLA INSTALLATION GUIDE

SINGLE SCREW ON VERTICAL GOLA
STEP 1

N
)
\

= =

For an end panel connecting to a Tall Cabinet, connect the provided steel brackets in the shown positions using the provided screws.
Use the pre-drilled pilot holes as a guide.Screw the vertical gola profile onto the cabinet sides aligning with the hinge plate predrilled

holes. See Det. 1 & Det. 2. ///> PG B l SO N



GOLA INSTALLATION GUIDE
SINGLE SCREW ON VERTICAL GOLA

773mm

Det. 3

\ \
\ \
b _—
Pg //—
_ \r ;°E’ \\:
Det. 4 =

On the end panel, connect the provided steel brackets. See Det. 3 - Det. 4 for measurements. ] /,) PG B l so N



GOLA INSTALLATION GUIDE

SINGLE SCREW ON VERTICAL GOLA
STEP 3

—~

’\.1
WALL SECTION

= P |

=

\ |
Screw the vertical gola profile onto the cabinet side.
Connect the end panel to the tall cabinet as shown. See Fig. 1 for details.

Fig. 1
PLAN VIEW

%) PG BISON



	f0ee646404a11dbc6ef7aafe39e9f5ad7bf743b62d1f8c0acd938d094abc7655.pdf
	af2d798e8561b85ab35553c42c1ab5257869e4c2ee632d5bb99dcecb8a50c4a2.pdf
	Aluline QuickLOC Kitchen Tall Unit  Oven Micro 600 mm White  with drawers
	Aluline ScrewLOC Kitchen Cabinet
	Aluline QuickLOC Kitchen Tall Unit  Oven Micro With Drawer




	f0ee646404a11dbc6ef7aafe39e9f5ad7bf743b62d1f8c0acd938d094abc7655.pdf
	77d8e8f4ae1fd8bd9d7cba529664fc23ebd259e525d05578988e8297dfac9796.pdf
	Aluline QuickLOC Kitchen Tall Unit Micro 600mm white
	Tall Cabinet Micro 600mm Page 2 (2)



	f0ee646404a11dbc6ef7aafe39e9f5ad7bf743b62d1f8c0acd938d094abc7655.pdf
	af2d798e8561b85ab35553c42c1ab5257869e4c2ee632d5bb99dcecb8a50c4a2.pdf
	Aluline QuickLOC Kitchen Tall Unit  Oven Micro 600 mm White  with drawers
	Aluline ScrewLOC Kitchen Cabinet
	A.299 Aluline QuickLOC Kitchen pg 4
	A.300 pg 5
	A.301 pg6




	f0ee646404a11dbc6ef7aafe39e9f5ad7bf743b62d1f8c0acd938d094abc7655.pdf
	GOLA PROFILE INSTALLATION
	Aluline ScrewLOC Kitchen Cabinet
	A.276 Layout



	Screw on Vertical Gola Assembly Guide
	Blm Gola Assembly Guides 22-8-22 YULA
	Vertical Gola Installation Page 1
	Vertical Gola Installation Page 2
	Vertical Gola Installation Page 3
	Vertical Gola Installation Page 4
	Vertical Gola Installation Page 5
	Vertical Gola Installation Page 6



